

Nicole Parry

09/26/2025 11:30 AM | Install Tent 09/27/2025 09:00 AM | Install Beach 09/27/2025 08:30 PM | Strike Tent (only 3 hours) 09/27/2025 11:00 PM | Strike Beach (only

09/27/2025 11:00 PM | Strike Beach (only 1 hr)

09/28/2025 09:00 AM | Strike

PO: Shipping Address: The Bluff Area in the community Route to below address 2540 Irvine Cove Crest, Laguna Beach, CA 92651 Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

NO NOISE FOR TRUCKS

Description		Qtty	Price		Total
Dinner Tent					
	Custom Partial Ceiling 4'W striped panels in off white and seafoam green 2	1	\$9,000.00	Т	\$9,000.00
	Custom Pullbacks 32- 4'W x 11'H off white with trim and tiebacks in seafoam green 2	1	\$13,900.00	Т	\$13,900.00
	Custom Valance - 220' seafoam green 2	1	\$2,200.00	Т	\$2,200.00
	Custom Sign For Entrance	1	\$0.00	Т	\$0.00
	Pendant Lamp - Bali - Asymetrical Weave off white simple rouching, 15"W x 22"H - 3lb - 25 watts	8	\$150.00	T	\$1,200.00
	Pendant Lamp - Bali - String Weave off white simple rouching, 17"W x 22"H - 3LB -25 Watts	8	\$150.00	T	\$1,200.00
	Pendants - Kids - Curved Rattan Small over the bar, off white simple rouching, 18"D x 17"H	2	\$150.00	Т	\$300.00
	Pendants - Kids - Curved Rattan Big over the bar, off white simple rouching, 20"D x 19"H	3	\$150.00	Т	\$450.00
	Custom Sign Arrows with custom hand painting	1	\$2,200.00	Т	\$2,200.00
	Dining Chairs - Siena - Whitewash Wood 17âM 🖟 18âM 🖟 30âM M/2 H	40	\$30.00	T	\$1,200.00

Description		Qtty	Price		Total
	Bars - Carmel - Straight 10' custom front in seafoam green 2 channeled , top in hand painted oak finish to match the barback, placed with curves to create a 16'W bar 10'W x 30"L x 42"H - Front Options Upon Request	1	\$2,100.00	Т	\$2,100.00
	Bars - Carmel - Curved 6' custom front in seafoam green 2 channeled , top in hand painted oak finish to match the barback, placed with 10' to create a 16'W bar 6'W x 30"L X 42"H	2	\$1,900.00	T	\$3,800.00
	Barback - Oak Wood 3 Piece 12' x 18" x 8'6"H	1	\$500.00	Т	\$500.00
	Small Dining Tables - Natural Wood 36"Diam x 30"H	10	\$300.00	Т	\$3,000.00
	Custom Stage Front Fluted wood in oak wood finish	1	\$5,400.00	Т	\$5,400.00
	Stand Up Tables - Natural Wood 36"Diam x 42"H	8	\$350.00	Т	\$2,800.00
	Dining Tables - St. Lucia Rectangular Wood 8' for buffets 8'W x 4'L x 30" H	6	\$600.00	T	\$3,600.00
	Sofas - Siena - Off White W/ Wood Base 8' 8'W x 36"L x 31"H	4	\$500.00	Т	\$2,000.00
	Coffee Tables - Siena - Wood Sphere Base W/ Glass Top 48"Diam x 18"H	4	\$300.00	T	\$1,200.00
	Ottomans - Standard Backrest Round custom back rest and ottoman in linen to match the sofa, piping in seafoam color 23"Diam x 29"H - Cover Color Upon Request	8	\$250.00	Т	\$2,000.00
	Ottomans - Standard Pod custom pod in seafoam green 2 18"RND x 17"H - Cover Color Upon Request	8	\$100.00	T	\$800.00
	Area Rugs - Cartagena - Natural Jute Scalloped Border 8' x 10'	4	\$300.00	Т	\$1,200.00
			Total Dinner T	al Dinner Tent \$60,050	
Beach Lounge					
	Bars - Bora Bora - Wood & Rattan 12' painted arcade white high gloss, client to provide a table for glassware 12'W x 12'L x 44"H - Custom Frame color & Inserts upon request	1	\$1,200.00	T	\$1,200.00

Description		Qtty	Price		Total
	Lantern - Abu Dhabi - Gold - Large battery operated candles 10"W x 10"L x 33"H	21	\$120.00	Т	\$2,520.00
	Lantern - Abu Dhabi - Gold - Medium battery operated candles 8"W x 8"L x 26"H	23	\$90.00	Т	\$2,070.00
	Lantern - Abu Dhabi - Gold Small battery operated candles 6"W x 6"H x 19"H	24	\$70.00	Т	\$1,680.00
	Lantern - Abu Dhabi - Rose Gold - Large battery operated candles 10"W x 10"L x 33"H	23	\$120.00	Т	\$2,760.00
	Lantern - Abu Dhabi - Rose Gold - Medium battery operated candles 8"W x 8"L x 26"H	23	\$90.00	Т	\$2,070.00
	Lantern - Abu Dhabi - Rose Gold - Small battery operated candles 6"W x 6"L x 19"H	23	\$70.00	Т	\$1,610.00
	Sofas - Bali - Bamboo White Wash 73"W x 30"D x32â\\ \Bar{\text{N}} H	8	\$400.00	T	\$3,200.00
R P	Coffee Tables - Bora Bora - White Wash 47"W x 32"L x 16â® H	2	\$300.00	Т	\$600.00
	Sofas - Bora Bora - Diamond Weave 64"W x 27"D X 33"H	8	\$450.00	Т	\$3,600.00
The state of the s	Club & Lounge Chairs - Bora Bora - Club Chair 28"W x 33"Wx 33âN H	4	\$250.00	Т	\$1,000.00
	Coffee Tables - Bali - Round Rattan 52"RND X 19"H	2	\$120.00	T	\$240.00
	Club & Lounge Chairs - Bora Bora - Accent Chair 26"W x 27"L x 33âN H	8	\$150.00	Т	\$1,200.00
	Custom Folding Beach Chairs custom off white and seafoam green 2 striped, (thinner stripe than draping)	20	\$300.00	Т	\$6,000.00
	Area Rugs - Cartagena - Natural Jute Floral Braided 8' Round	2	\$250.00	Т	\$500.00
	8' Round				

Description		Qtty	Price	Total
			Total Beach Lounge	\$30,250.00
Services				
	Friday Install	8	\$650.00	\$5,200.00
	Saturday Install	8	\$550.00	\$4,400.00
	Saturday Strike	8	\$400.00	\$3,200.00
	Sunday - Drive Back	8	\$200.00	\$1,600.00
	Truck & Gas Surcharge	3	\$550.00	\$1,650.00
	Small Flat Bed For Beach Install	1	\$350.00 T	\$350.00
	Crew Hotel Rooms: 4 rooms, 2 nights	1	\$2,000.00	\$2,000.00
	Per Diems	8	\$258.00	\$2,064.00
	Managers Fees: On site managements, hotel room, meetings, walk through, production, etc	1	\$3,500.00	\$3,500.00
Please make checks payable to Revelry, Inc.			Total Products:	\$90,300.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc: Wear & Tear (5.00%):		\$23,964.00
			\$4,515.00	
Please ready the	Notes		Packing (3.00%):	
•			- , ,	
Please ready the Notes			Taxes:	\$8,838.38
•			Taxes : Discounts:	\$8,838.38 (\$0.00)
•			Taxes:	\$2,709.00 \$8,838.38 (\$0.00) \$130,326.38 (\$0.00)